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¬⁄UËˇÊÊÕË¸ ∑§Ê«U ∑§Ê ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§
◊Èπ-¬Îc∆U ¬⁄U •fl‡ÿ Á‹π¥–

Note / ŸÊ≈U —

(i) Please check that this question paper contains 16 printed pages.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥  16 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥–

(ii) Code number given on the right hand side of the question paper should be written on the title

page of the answer-book by the candidate.

¬˝‡Ÿ-¬òÊ ◊¥ ŒÊÁ„Ÿ „ÊÕ ∑§Ë •Ê⁄U ÁŒ∞-ª∞ ∑§Ê«U Ÿê’⁄U ∑§Ê ¿UÊòÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§ ◊Èπ-¬Îc∆U ¬⁄U Á‹π¥–

(iii) Please check that this question paper contains 34 questions. All questions are compulsory.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ 34 ¬˝‡Ÿ „Ò¥–  ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(iv) Please write down the Serial Number of the question in the answer-book before

attempting it.

∑Î§¬ÿÊ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄ Á‹πŸÊ ‡ÊÈM§ ∑§⁄UŸ ‚ ¬„‹, ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡Ÿ ∑§Ê ∑˝§◊Ê¥∑§ •fl‡ÿ Á‹π¥–U
(v) 15 minutes time has been allotted to read the question paper.  The question paper will be

distributed at 10.15 a.m. , From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò–  ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ¬ÍflÊ¸q ◊¥ 10.15  ’¡
Á∑§ÿÊ ¡Ê∞ªÊ– 10.15 ’¡ ‚ 10.30 ’¡ Ã∑§ ¿UÊòÊ ¬˝‡Ÿ-¬òÊ ∑§Ê ◊ÊòÊ •äÿÿŸ ∑§⁄¥Uª ÃÕÊ ß‚ •flÁœ ∑§ ŒÊÒ⁄UÊŸ
fl ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥ Á‹π¥ª–
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(vi) This question paper comprises of  two sections : Section A : Macro Economics Section B :
Indian Economic Development.

¬˝‡Ÿ-¬òÊ ∑§Ê ŒÊ π¥«UÊ¥ ◊¥ Áfl÷ÊÁ¡Ã Á∑§ÿÊ ªÿÊ „Ò — π¥«U-∑§— ‚◊Ác≈U •Õ¸‡ÊÊSòÊ π¥«U-π— ÷Ê⁄UÃËÿ •ÊÁÕ¸∑§
Áfl∑§Ê‚ –

(vii) This question paper contains 20 Multiple Choice type questions.  Each question carries
1 mark.

ß‚ ¬˝‡Ÿ ¬òÊ ◊¥ 20 ’„ÈÁfl∑§À¬Ëÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ 1 •¥∑§ ∑§Ê „Ò–

(viii) This question paper contains 4 Short Answer Type-I questions.  Each question carries
3 marks.  Answer these questions in 60 to 80 words.

ß‚ ¬˝‡Ÿ ¬òÊ ◊¥ 4 ‹ÉÊÈ ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U - I ∑§ ¬˝‡Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ 3 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 60 fl
80 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(ix) This question paper contains 6 Short Answer Type-II questions.  Each question carries
4 marks.  Answer these questions in 80 to 100 words.

ß‚ ¬˝‡Ÿ ¬òÊ ◊¥ 6 ‹ÉÊÈ ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U-II ∑§ ¬˝‡Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ 4 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 80 fl
100 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(x) This question paper contains 4 Long Answer type questions.  Each question carries 6 marks.
Answer these questions in 100 to 150 words.

ß‚ ¬˝‡Ÿ ¬òÊ ◊¥  4 ŒËÉÊ¸ ©ûÊ⁄UËÿ ¬˝‡Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ 6 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 100 fl 150 ‡ÊéŒÊ¥
‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(xi) Attempt all parts of a question together is desirable.

¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚÷Ë ÷ÊªÊ¥ ∑§Ê ∞∑§ ‚ÊÕ „‹ ∑§⁄UŸÊ flÊ¥¿UŸËÿ „Ò–

(xii) Answers should be in brief and to the point.  The above mentioned word limit be adhered to, as
far as possible.

©ûÊ⁄U ‚¥ÁˇÊåàÊ ÃÕÊ Á’¥ŒÈflÊ⁄U „ÊŸ øÊÁ„∞–  ©¬⁄UÊÄàÊ ‡ÊéŒ-‚Ë◊Ê ∑§Ê ÿÕÊ‚¥÷fl ¬Ê‹Ÿ ∑§ËÁ¡∞–

(xiii) There is no overall choice in the question paper.  However, internal choices have been provided
in some questions.  Only one of the choices in such questions have to be attempted.

¬˝‡Ÿ-¬òÊ ◊¥ ‚◊ª˝ ¬⁄U ∑§Êß¸ Áfl∑§À¬ Ÿ„Ë¥ „Ò–  ÃÕÊÁ¬, ∑È§¿U ¬˝‡ŸÊ¥ ◊¥ •Ê¥ÃÁ⁄U∑§ Áfl∑§À¬ ÁŒ∞ ª∞ „Ò¥–  ∞‚ ¬˝‡ŸÊ¥
◊¥ ∑§fl‹ ∞∑§ „Ë Áfl∑§À¬ ∑§Ê ©ûÊ⁄U Á‹Áπ∞–

(xiv) In addition to this, separate instructions are given with each section and question, wherever
necessary.  Read and follow them carefully.

ß‚∑§ •ÁÃÁ⁄UÄàÊ, •Êfl‡ÿ∑§ÃÊŸÈ‚Ê⁄U, ¬˝àÿ∑§ π¥«U •ÊÒ⁄U ¬˝‡Ÿ ∑§ ‚ÊÕ ÿÕÊÁøÃ ÁŸŒ¸‡Ê ÁŒ∞ ª∞ „Ò¥–  ©Ÿ∑§Ê
äÿÊŸ¬Ífl¸∑§ •äÿÿŸ fl •ŸÈ¬Ê‹Ÿ ∑§⁄¥U–
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SECTION - A : MACRO ECONOMICS

πá«U - ∑§ — ‚◊Ác≈U •Õ¸‡ÊÊSòÊ

1. From the following identify, the option which accurately describes a public good.

(a) A family paying for their garbage disposal.

(b) A Company providing healthcare facilities to its employees.

(c) A Cinema hall charging for tickets.

(d) Citizens benefiting from a public park.

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ©‚ Áfl∑§À¬ ∑§Ë ¬„øÊŸ ∑§⁄¥U, ¡Ê ‚Êfl¸¡ÁŸ∑§ flSÃÈ ∑§Ê ‚„Ë fláÊ¸Ÿ ∑§⁄UÃÊ „Ò–

(∑§) ∞∑§ ¬Á⁄UflÊ⁄U mÊ⁄UÊ •¬Ÿ ∑§ø⁄U ∑§ ÁŸSÃÊ⁄UáÊ ∑§ Á‹∞ Á∑§ÿÊ ªÿÊ ÷ÈªÃÊŸ–

(π) ∞∑§ ∑¥§¬ŸË mÊ⁄UÊ •¬Ÿ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬˝ŒÊŸ ∑§Ë ªß¸ SflÊSâÿ ‚flÊ∞°–

(ª) ∞∑§ Á‚Ÿ◊Ê „ÊÚ‹ mÊ⁄UÊ Á≈U∑§≈U ∑§ Á‹∞ Á‹ÿÊ ªÿÊ ‡ÊÈÀ∑§–
(ÉÊ) ŸÊªÁ⁄U∑§Ê¥ mÊ⁄UÊ ∞∑§ ‚Êfl¸¡ÁŸ∑§ ©lÊŸ ‚ ¬˝Ê# ‹Ê÷–

2. “Mr. Ram purchased a vehicle on installments”.

 In the context of the given statement, identify the highlighted function of money.

(Choose the correct option)

(a) Medium of exchange (b) Store of value

(c) Unit of account (d) Standard of deferred payments

““üÊË◊ÊŸ ⁄UÊ◊ Ÿ Á∑§‡ÃÊ¥ ¬⁄U ∞∑§ flÊ„Ÿ ∑˝§ÿ Á∑§ÿÊ ÕÊ””–

ÁŒ∞ ª∞ ∑§ÕŸ ∑§ ‚¥Œ÷¸ ◊¥, ◊ÈŒ˝Ê ∑§ ‚¥∑§ÁÃÃ ∑§Êÿ¸ ∑§Ë ¬„øÊŸ ∑§⁄¥U– (‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)

(∑§) ÁflÁŸ◊ÿ ∑§Ê ◊Êäÿ◊ (π) ◊ÍÀÿ ‚¥øÿ

(ª) πÊÃ ∑§Ë ß∑§Êß¸ (ÉÊ) Áfl‹¥Á’Ã ÷ÈªÃÊŸ ∑§ ◊ÊŸ∑§

3. If in an economy, the value of Investment Multiplier (K) is 4 and Autonomous

Consumption (C ) = 200 then the corresponding Consumption function would be

as follows __________.

(Choose the correct option)

(a) C=200+0.75 Y (b) C=−200+0.78 Y

(c) C=200+0.70 Y (d) C = 200+0.40 Y

ÿÁŒ Á∑§‚Ë •Õ¸√ÿflSÕÊ ◊¥ ÁŸfl‡Ê ªÈáÊÊ¥∑§ (K) ∑§Ê ◊ÍÀÿ 4 „Ò ÃÕÊ SflÊÿûÊ ©¬÷Êª (C ) = 200 „Ò, ÃÊ
‚¥’¥ÁœÃ ©¬÷Êª »§‹Ÿ __________ „ÊªÊ–

(‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥)

(∑§) C = 200 + 0.75 Y (π) C = −200 + 0.78 Y

(ª) C = 200 + 0.70 Y (ÉÊ) C = 200 + 0.40 Y

1

1

1



144- ECONOMICS 4

4. Choose the correct option to calculate the missing value (?) : 1

Items
Farmer 

(Amount in `  )

Baker 

(Amount in `  )

Value of Output 100 200

Intermediate Cost 0 50

Value Added 100    ?

Options :

(a) 250 (b) 150 (c) 100 (d) 450

Áfl‹ÈåÃ ◊ÍÀÿ (?) ∑§Ê •Ê¥∑§‹Ÿ ∑§⁄UÃ „È∞, ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

◊Œ¥
∑Î§·∑§

(⁄UÊÁ‡Ê ` ◊¥)

’∑§⁄U           

(⁄UÊÁ‡Ê ` ◊¥)

©à¬ÊŒŸ ∑§Ê ◊ÍÀÿ 100 200

◊äÿflÃË ̧‹ÊªÃ 0 50

◊ÍÀÿflÁœÃ̧ 100 ?

Áfl∑§À¬ —

(∑§) 250 (π) 150 (ª) 100 (ÉÊ) 450

5. Read the following statements carefully :

Statement 1 : Autonomous transactions are independent of the state of Balance
of  Payment (BoP).

Statement 2 : The Balance of Payment (BoP) is said to be in surplus, if autonomous
payments are greater than autonomous receipts.

In the light of the above statements, choose the correct option from the
following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

1
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ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ∑§Ê äÿÊŸ¬Ífl¸∑§ •äÿÿŸ ∑§ËÁ¡∞ —

∑§ÕŸ 1 — SflÊÿûÊ ‹ŸŒŸ ÷ÈªÃÊŸ ‚¥ÃÈ‹Ÿ (BoP) ∑§Ë ÁSÕÁÃ ‚ SflÃ¥òÊ „ÊÃ „Ò¥–

∑§ÕŸ 2 — ¡’ SflÊÿûÊ ÷ÈªÃÊŸ SflÊÿûÊ ¬˝ÊÁåÃÿÊ¥ ‚ •Áœ∑§ „Ê¥, ÃÊ ÿ„ ÷ÈªÃÊŸ ‚¥ÃÈ‹Ÿ (BoP) ∑§Ê
•ÊÁœÄÿ ∑§„‹ÊÃÊ „Ò–

ÁŒ∞ ª∞ ∑§ÕŸÊ¥ ∑§ •Ê‹Ê∑§ ◊¥, ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§ËÁ¡∞–

(∑§) ∑§ÕŸ 1 ‚àÿ „Ò •ÊÒ⁄U ∑§ÕŸ 2 •‚àÿ „Ò–

(π) ∑§ÕŸ 1 •‚àÿ „Ò •ÊÒ⁄U ∑§ÕŸ 2 ‚àÿ „Ò–

(ª) ∑§ÕŸ 1 •ÊÒ⁄U 2 ŒÊŸÊ¥ ‚àÿ „¥Ò–

(ÉÊ) ∑§ÕŸ 1 •ÊÒ⁄U 2 ŒÊŸÊ¥ •‚àÿ „Ò¥–

6. Study the following figure carefully and choose the correct option :

Options :

(a) (i) and (ii) (b) (i) and (iii)

(c) (ii) and (iv) (d) (ii) and (iii)

ÁŸêŸÁ‹ÁπÃ ÁøòÊ ∑§Ê äÿÊŸ¬Ífl¸∑§ •äÿÿŸ ∑§ËÁ¡∞ ÃÕÊ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

Áfl∑§À¬ —

(∑§) (i) fl (ii) (π) (i) fl (iii)

(ª) (ii) fl (iv) (ÉÊ) (ii) fl (iii)

1
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7. __________ refers to the rate of interest payable by commercial banks to the
Central Bank, if they borrow money from the latter, in case of shortage of reserve
for their long term needs. (Choose the correct option to fill up the blank)
(a) Repo Rate (b) Bank Rate
(c) Reverse Repo Rate (d) Statutory Liquidity Ratio

__________ ‚ ÃÊà¬ÿ¸ ©‚ éÿÊ¡ Œ⁄U ‚ „Ò, ¡Ê Á∑§ flÊÁáÊÁíÿ∑§ ’Ò¥∑§Ê¥ mÊ⁄UÊ ∑§ãŒ˝Ëÿ ’Ò¥∑§ ∑§Ê Œÿ „ÊÃË „Ò,
¡’ fl •¬ŸË ŒËÉÊ¸∑§ÊÁ‹∑§ •Êfl‡ÿ∑§ÃÊ•Ê¥ ∑§ Á‹ÿ ◊ÈŒ˝Ê ÷¥«UÊ⁄U ∑§Ë •À¬ÃÊ ∑§Ë ÁSÕÁÃ ◊¥ ∑§ãŒ˝Ëÿ ’Ò¥∑§ ‚
´§áÊ ‹Ã „Ò¥– (Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§ Á‹∞ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)
(∑§) ⁄U¬Ê Œ⁄U (π) ’Ò¥∑§ Œ⁄U
(ª) Á⁄Ufl‚¸ ⁄U¬Ê Œ⁄U (ÉÊ) flÒœÊÁŸ∑§ Ã⁄U‹ÃÊ •ŸÈ¬ÊÃ

8. “An Indian firm sells goods to a buyer in Tokyo and receives payment.”
This transaction would be recorded on the __________ side of __________ account.
of  Balance of Payments (BoP) Account.

    (Choose the correct option to fill up the blank)
(a) credit, capital (b) credit, current (c) debit, capital (d) debit, current

““∞∑§ ÷Ê⁄UÃËÿ »§◊¸ ≈UÊÄÿÊ ◊¥ ∞∑§ π⁄UËŒÊ⁄U ∑§Ê ◊Ê‹ ’øÃË „Ò •ÊÒ⁄U ÷ÈªÃÊŸ ¬˝Ê# ∑§⁄UÃË „Ò–””
ÿ„ ‹Ÿ-ŒŸ ÷ÈªÃÊŸ ‚¥ÃÈ‹Ÿ πÊÃ (BoP) ∑§ __________ πÊÃ ∑§ __________  ¬ˇÊ ◊¥ Œ¡¸ Á∑§ÿÊ
¡Ê∞ªÊ– (Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ̧ ∑§ Á‹∞ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥UU)
(∑§) ¬°Í¡Ë, ∑˝§Á«U≈U (π) øÊ‹Í, ∑˝§Á«U≈U (ª) ¬°Í¡Ë, «UÁ’≈U (ÉÊ) øÊ‹Í, «UÁ’≈U

9. All of the receipts of the government that either reduce assets or create liabilities
are  referred to as ________.  (Choose the correct option to fill up the blank)
(a) Revenue Receipts (b) Capital Receipts
(c) Tax Receipts (d) Non-Tax Receipts

‚⁄U∑§Ê⁄U ∑§Ë fl ‚÷Ë ¬˝ÊÁåÃÿÊ° ¡Ê ÿÊ ÃÊ ¬Á⁄U‚¥¬ÁûÊÿÊ° ∑§◊ ∑§⁄UÃË „Ò¥, ÿÊ ŒŸŒÊÁ⁄UÿÊ¥ ’ŸÊÃË „Ò¥, ©ã„¥
________ ∑§„Ê ¡ÊÃÊ „Ò– (Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§ Á‹∞ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)
(∑§) ⁄UÊ¡Sfl ¬˝ÊÁåÃÿÊ° (π) ¬°Í¡ËªÃ ¬˝ÊÁåÃÿÊ°
(ª) ∑§⁄U ¬˝ÊÁåÃÿÊ° (ÉÊ) ªÒ⁄U-∑§⁄U ¬˝ÊÁåÃÿÊ°

10. The Primary Deficit in the government budget is zero when __________.
(Choose the correct option to fill up the blank)

(a) Revenue Deficit is zero.
(b) Net interest payments are zero.
(c) Fiscal Deficit equals interest payments.
(d) There is a zero Fiscal Deficit.

‚⁄U∑§Ê⁄UË ’¡≈U ◊¥ ¬˝ÊÕÁ◊∑§ ÉÊÊ≈UÊ ‡ÊÍãÿ Ã’ „ÊÃÊ „Ò, ¡’ __________–
(Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§ Á‹∞ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)

§ (∑§) ⁄UÊ¡Sfl ÉÊÊ≈UÊ ‡ÊÍãÿ „Ê–
(π) ‡ÊÈh éÿÊ¡ ÷ÈªÃÊŸ ‡ÊÍãÿ „Ê–
(ª) ÁflûÊËÿ ÉÊÊ≈UÊ éÿÊ¡ ÷ÈªÃÊŸ ∑§ ’⁄UÊ’⁄U „Ê–
(ÉÊ) ÁflûÊËÿ ÉÊÊ≈UÊ ‡ÊÍãÿ „Ê–

1

1

1

1
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11. (a) Study the given image carefully and identify, the situation depicted in the image.

           Analyse its likely impact on distribution of Gross Domestic Product (GDP).

Note : The following question is for the Visually Impaired candidates only in
lieu of Q.No. 11 (a).

“Gross Domestic Product (GDP) is not a good indicator of welfare.’’

Justify the given statement with any one valid argument.

OR

(b) From the following data, estimate the value of Domestic Income (NDP
FC

) : 3

Sl. No. Particulars 
Amount

(in `  Crore)

(i) Consumption of fixed capital 100

(ii) Corporate tax 460

(iii) Rent and interest 800

(iv) Dividend 940

(v) Compensation of Employees 2,000

(vi) Undistributed profits 300

(vii) Mixed Income of Self Employed 200

(viii) Employer's Contribution to Social Security Scheme 120

3
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(∑§) ÁŒ∞ ª∞ ÁøòÊ ∑§Ê äÿÊŸ¬Ífl¸∑§ •äÿÿŸ ∑§ËÁ¡∞ ÃÕÊ  Œ‡ÊÊ¸ß¸ ªß¸ ¬Á⁄UÁSÕÁÃ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞– ß‚
ÁSÕÁÃ ∑§ ∑§ÀÿÊáÊ ‚Íø∑§Ê¥∑§ ¬⁄U ¬«∏UŸ flÊ‹ ‚¥÷ÊÁflÃ ¬˝÷Êfl ∑§Ê Áfl‡‹·áÊ ∑§⁄¥U–

ŸÊ≈U — ÁŸêŸÁ‹ÁπÃ ¬˝‡Ÿ ∑§fl‹ ŒÎÁc≈U’ÊÁœÃ ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ¬˝‡Ÿ ‚¥ÅÿÊ 11 (a) ∑§ SÕÊŸ ¬⁄U
„Ò–

““‚∑§‹ ÉÊ⁄U‹Í ©à¬ÊŒ ∑§ÀÿÊáÊ ∑§Ê ∞∑§ •ë¿UÊ ‚¥∑§Ã∑§ Ÿ„Ë¥ „Ò–””

Á∑§‚Ë ∞∑§ flÒœ Ã∑¸§ mÊ⁄UÊ ÁŒ∞ ª∞   ∑§ÕŸ ∑§Ë ¬ÈÁc≈U ∑§ËÁ¡∞–

 •ÕflÊ

(π) ÁŸêŸÁ‹ÁπÃ •Ê°∑§«UÊ¥ mÊ⁄UÊ, ÉÊ⁄U‹Í •Êÿ (NDP
FC

)∑§Ê ◊ÍÀÿ ôÊÊÃ ∑§⁄¥U —

       

∑§̋◊ ‚¥. ◊Œ¥
⁄ÊÁ‡Ê

(` ∑§⁄UÊ«∏U ◊¥)
(i) SÕÊÿË ¬Í°¡Ë ∑§Ê ©¬÷Êª 100

(ii) ÁŸª◊ ∑§⁄U 460

(iii) Á∑§⁄UÊÿÊ ÃÕÊ éÿÊ¡ 800

(iv) ‹Ê÷Ê¥‡Ê 940

(v) ∑§◊ø̧ÊÁ⁄UÿÊ¥ ∑§Ê ¬ÊÁ⁄UüÊÁ◊∑§ 2,000

(vi) •ÁflÃÁ⁄UÃ ‹Ê÷ 300

(vii) SflÁŸÿÊÁ¡ÃÊ¥ ∑§Ë Á◊ÁüÊÃ •Êÿ 200

(viii) ÁŸÿÊÄÃÊ mÊ⁄UÊ ‚Ê◊ÊÁ¡∑§ ‚È⁄UˇÊÊ ÿÊ¡ŸÊ ◊¥ ÿÊªŒÊŸ 120

12. Elaborate the objective of ‘Allocation Function’ in the Government Budget.

‚⁄U∑§Ê⁄UË ’¡≈U ◊¥ “•Êfl¥≈UŸ ∑§Êÿ¸” ∑§ ©g‡ÿ ∑§Ë √ÿÊÅÿÊ ∑§⁄¥U–

13. Explain the ‘Banker’s Bank’ function of the Central Bank. 4

∑¥§Œ˝Ëÿ ’Ò¥∑§ ∑§ “’Ò¥∑§Ê¥ ∑§ ’Ò¥∑§” ∑§Êÿ¸ ∑§Ë √ÿÊÅÿÊ ∑§⁄¥U–

3
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14. (a) (I) “To combat deflation, Government may reduce public expenditure”. 3
Do you agree with the given statement ?  Justify your answer with valid
arguments.

(II) State the meaning of ‘Deficient Demand’. 1

OR

(b) Answer the following questions, based on the data given below :

• Planned Investment = ̀  100 Crore.
• S =−50+0.5 Y (Where, S=Savings and Y=National Income)

(i) Determine the Equilibrium level of Income. 2
(ii) Calculate the value of Consumption Expenditure at the Equilibrium

level of Income.

(∑§) (I) ““•¬S»§ËÁÃ ‚ ÁŸ¬≈UŸ ∑§ Á‹∞ ‚⁄U∑§Ê⁄U ‚Êfl¸¡ÁŸ∑§ √ÿÿ ◊¥ ∑§◊Ë ∑§⁄U ‚∑§ÃË „Ò–””
ÄÿÊ •Ê¬ ÁŒ∞ ª∞ ∑§ÕŸ ‚ ‚„◊Ã „Ò¥? ◊Êãÿ Ã∑§ÊZ mÊ⁄UÊ •¬Ÿ ©ûÊ⁄U ∑§Ê •ÊÒÁøàÿ Á‚h ∑§⁄¥U–

(II) “•Ê÷ÊflË ◊Ê°ª” ∑§Ê •Õ¸ ’ÃÊ∞°–
•ÕflÊ

(π) ŸËø ÁŒ∞ ª∞ •Ê°∑§«UÊ¥ ∑§ •ÊœÊ⁄U ¬⁄U, ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞ —
• ÁŸÿÊÁ¡Ã ÁŸfl‡Ê=` 100 ∑§⁄UÊ«∏
• S=−50+0.5 Y (¡„Ê° S=’øÃ fl Y=⁄UÊc≈˛UËÿ •Êÿ)

(i) •Êÿ ∑§ ‚¥ÃÈ‹Ÿ SÃ⁄U ∑§Ê ÁŸœÊ¸⁄UáÊ ∑§ËÁ¡∞–
(ii) •Êÿ ∑§ ‚¥ÃÈ‹Ÿ SÃ⁄U ¬⁄U ©¬÷Êª √ÿÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–

15. Assuming all other factors constant, ‘Depreciation and Devaluation of currency,

both have a similar effect on exports’.

Defend or refute the given statement with valid arguments.

ÿ„ ◊ÊŸÃ „È∞ Á∑§, •ãÿ ‚÷Ë ∑§Ê⁄U∑§ •¬Á⁄UflÁÃ¸Ã „Ò¥, “◊ÈŒ˝Ê ∑§Ê •fl◊ÍÀÿŸ •ÊÒ⁄U ◊ÍÀÿOÊ‚, ŒÊŸÊ¥ ∑§Ê ÁŸÿÊ¸Ã
¬⁄ ‚◊ÊŸ ¬˝÷Êfl ¬«∏ÃÊ „Ò–”
◊Êãÿ Ã∑§ÊZ ∑§ •ÊœÊ⁄U ¬⁄U ÁŒ∞ ª∞ ∑§ÕŸ ∑§Ê ‚◊Õ¸Ÿ ÿÊ π¥«UŸ ∑§⁄¥U–U

16. (a) (I) ‘Capital goods used by a production unit are regarded as final goods’.
Do you agree with the given statement ?
Give valid arguments in support of your answer.

(II) In a  given year, the value of Nominal Gross National Product (GNP)
was ̀  330 Crore, while the value of Real GNP during the same year was
` 300 crore. Determine the value of GNP deflator (with base=100).

OR

(b) (I) Describe any three precautions to be taken while estimating National
Income by Expenditure method.

(II)  Giving valid reasons explain, how following should be treated while
estimating National Income :
(i) Profit earned by an Indian Company from its branch in Russia.
(ii) Expenditure on police services by the Government.

2

4

3

3

3

3
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(∑§) (I) “Á∑§‚Ë ©à¬ÊŒŸ ß∑§Êß¸ mÊ⁄UÊ ©¬ÿÊª Á∑§∞ ¡ÊŸ flÊ‹Ë ¬Í¥¡ËªÃ flSÃÈ•Ê¥ ∑§Ê •¥ÁÃ◊ flSÃÈ•Ê¥ ∑§
M§¬ ◊¥ ◊ÊŸÊ ¡ÊÃÊ „Ò–”
ÄÿÊ •Ê¬ ©¬⁄UÊÄÃ ∑§ÕŸ ‚ ‚„◊Ã „Ò¥? ◊Êãÿ Ã∑§ÊZ mÊ⁄UÊ •¬Ÿ ©ûÊ⁄U ∑§Ê ‚◊Õ¸Ÿ ∑§⁄¥U–

(II) ∞∑§ ÁŸÁ‡øÃ fl·¸ ◊¥, Á∑§‚Ë ∞∑§ •Õ¸√ÿflSÕÊ ∑§ ◊ÊÒÁŒ˝∑§ ‚∑§‹ ⁄UÊc≈˛UËÿ ©à¬ÊŒ (GNP) ∑§Ê
◊ÍÀÿ ` 330 ∑§⁄UÊ«∏U ÕÊ, ¡’Á∑§ ©‚Ë fl·¸ ©‚ Œ‡Ê ∑§Ê flÊSÃÁfl∑§ ‚∑§‹ ⁄UÊc≈˛UËÿ ©à¬ÊŒ
` 300 ∑§⁄UÊ «∏ U ÕÊ– ©‚ fl·¸ ∑§ Á‹∞ ‚∑§‹ ⁄UÊc≈˛ UËÿ ©à¬ÊŒ •flS»§ËÁÃ∑  ∑§Ê
(•ÊœÊ⁄U=100 ◊ÊŸÃ „È∞) ÁŸœÊ¸⁄UáÊ ∑§⁄¥U–

•ÕflÊ
(π) (I) √ÿÿ ÁflÁœ mÊ⁄UÊ ⁄UÊC˛Ëÿ •Êÿ ∑§Ê •ŸÈ◊ÊŸ ‹ªÊÃ ‚◊ÿ ’⁄UÃË ¡ÊŸ flÊ‹Ë Á∑§ã„Ë¥ ÃËŸ

‚ÊflœÊÁŸÿÊ¥ ∑§Ê fláÊ¸Ÿ ∑§⁄¥U–
(II)  ◊Êãÿ ∑§Ê⁄UáÊÊ¥ mÊ⁄UÊ ‚◊¤ÊÊß∞ Á∑§, ⁄UÊc≈˛UËÿ •Êÿ ∑§Ê •Ê¥∑§‹Ÿ ∑§⁄UÃ ‚◊ÿ ÁŸêŸÁ‹ÁπÃ ∑§Ê

Á∑§‚ ¬˝∑§Ê⁄U √ÿfl„Ê⁄U Á∑§ÿÊ ¡ÊŸÊ øÊÁ„∞ —
(i) ÷Ê⁄UÃËÿ ∑¥§¬ŸË mÊ⁄UÊ M§‚ ◊¥ •¬ŸË ‡ÊÊπÊ ‚ •Á¡¸Ã ‹Ê÷–
(ii) ‚⁄U∑§Ê⁄U mÊ⁄UÊ ¬ÈÁ‹‚ ‚flÊ•Ê¥ ¬⁄U Á∑§ÿÊ ªÿÊ √ÿÿ–

17. (I) Define Effective Demand.
(II)  Explain the adjustment mechanism, if ex-ante Aggregate Demand is more

than ex-ante Aggregate Supply.

(I) ¬˝÷ÊflË ◊Ê¥ª ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§⁄¥U–
(II) ÿÁŒ ¬˝àÿÊÁ‡ÊÃ ‚◊ª˝ ◊Ê¥ª ¬˝àÿÊÁ‡ÊÃ ‚◊ª˝ ¬ÍÁÃ¸ ‚ •Áœ∑§ „Ê ÃÊ, ‚◊ÊÿÊ¡Ÿ Ã¥òÊ ∑§Ë √ÿÊÅÿÊ ∑§⁄¥U–

SECTION - B : Indian Economic Development

πá«U - π — ÷Ê⁄UÃËÿ •Õ¸√ÿflSÕÊ ∑§Ê Áfl∑§Ê‚
18. Read the following statements carefully :            1

Statement 1 : Rural development in India is a crucial factor for nation’s overall
growth.

Statement 2 : The rural sector can be more vibrant by embracing diversification.
In the light of the above statements, choose the correct alternative from the
following :
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both statements 1 and 2 are true.
(d) Both statements 1 and 2 are false.

ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ∑§Ê äÿÊŸ¬Ífl¸∑§ •äÿÿŸ ∑§ËÁ¡∞ —
∑§ÕŸ 1 — ÷Ê⁄UÃ ◊¥ ª˝Ê◊ËáÊ Áfl∑§Ê‚ ⁄UÊc≈˛U ∑§Ë ‚◊ª˝ flÎÁh ∑§ Á‹∞ ∞∑§ ◊„àfl¬ÍáÊ¸ Ãàfl „Ò–
∑§ÕŸ 2 — ÁflÁflœË∑§⁄UáÊ ∑§Ê •¬ŸÊ∑§⁄U ª˝Ê◊ËáÊ ˇÊòÊ ∑§Ê •Áœ∑§ ¡Ëfl¥Ã ’Ÿ ‚∑§ÃÊ „Ò–
ÁŒ∞ ª∞ ∑§ÕŸÊ¥ ∑§ •Ê‹Ê∑§ ◊¥, ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§ËÁ¡∞–
(∑§) ∑§ÕŸ 1 ‚àÿ „Ò •ÊÒ⁄U ∑§ÕŸ 2 •‚àÿ „Ò–
(π) ∑§ÕŸ 1 •‚àÿ „Ò •ÊÒ⁄U ∑§ÕŸ 2 ‚àÿ „Ò–
(ª) ∑§ÕŸ 1 •ÊÒ⁄U 2 ŒÊŸÊ¥ ‚àÿ „¥Ò–
(ÉÊ) ∑§ÕŸ 1 •ÊÒ⁄U 2 ŒÊŸÊ¥ •‚àÿ „Ò¥–

2
4
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19. China set up Special __________ Zones to attract foreign investments.
(Choose the correct option to fill up the blank)

(a) Social (b) Political (c) Economic (d) Profit

øËŸ Ÿ ÁflŒ‡ÊË ÁŸfl‡Ê ∑§Ê •Ê∑§Á·¸Ã ∑§⁄UŸ ∑§ Á‹∞ Áfl‡Ê· __________ ˇÊòÊ SÕÊÁ¬Ã Á∑§∞ Õ–
(‚„Ë Áfl∑§À¬ mÊ⁄UÊ Á⁄UÄàÊ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞)

(∑§) ‚Ê◊ÊÁ¡∑§ (π) ⁄UÊ¡ŸÒÁÃ∑§ (ª) •ÊÁÕ¸∑§ (ÉÊ) ‹Ê÷

20. __________ and __________ were two crops which contributed to marketed
surplus during the Green Revolution. (Choose the correct option to fill up
the blank)
(a) Wheat, Maize (b) Rice, Oil seed
(c) Wheat, Rice (d) Pulses, Oil seeds

„Á⁄UÃ ∑˝§Ê¥ÁÃ ∑§ ŒÊÒ⁄UÊŸ Áfl¬áÊŸ •Áœ‡Ê· ◊¥ ÿÊªŒÊŸ ŒŸ flÊ‹Ë ŒÊ »§‚‹¥ __________ •ÊÒ⁄U __________

ÕË– (‚„Ë Áfl∑§À¬ mÊ⁄UÊ Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§⁄¥U)
(∑§) ª¥„Í, ◊Ä∑§Ê (π) øÊfl‹, ÁÃ‹„Ÿ
(ª) ª¥„Í, øÊfl‹ (ÉÊ) Œ‹„Ÿ, ÁÃ‹„Ÿ

21. Identify, which of the following is an example of a casual worker ? 1
(Choose the correct option)

(a) A farmer working on his own land.
(b) A shop owner managing his own business.
(c) A labourer working on daily wages on construction site.
(d) An engineer employed with a firm.

¬„øÊŸ ∑§⁄¥U Á∑§, ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ •SÕÊÿË üÊÁ◊∑§ ∑§Ê ©ŒÊ„⁄UáÊ „Ò?
(‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)

(∑§) •¬ŸË Sflÿ¥ ∑§Ë ÷ÍÁ◊ ¬⁄U ∑§Ê◊ ∑§⁄UŸ flÊ‹Ê ∑Î§·∑§–
(π) ∞∑§ ŒÈ∑§ÊŸŒÊ⁄U ¡Ê •¬ŸÊ √ÿfl‚Êÿ ø‹Ê ⁄U„Ê „Ò–
(ª) ∞∑§ ◊¡ŒÍ⁄U ¡Ê ÁŸ◊Ê¸áÊ SÕ‹ ¬⁄U ŒÒÁŸ∑§ ◊¡ŒÍ⁄UË ¬⁄U ∑§Ê◊ ∑§⁄U ⁄U„Ê „Ò–
(ÉÊ) Á∑§‚Ë »§◊¸ ◊¥ ÁŸÿÈÄàÊ ß¥¡ËÁŸÿ⁄U (•Á÷ÿ¥ÃÊ)–

22. Identify, which of the following is a common developmental strategy adopted by
both India and Pakistan. (Choose the correct option)
(a) Commune System (b) Dual Pricing Policy
(c) Green Revolution (d) One Child Policy

¬„øÊŸ ∑§⁄¥U Á∑§, ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë fl„ ‚◊ÊŸ Áfl∑§Ê‚ ⁄UáÊŸËÁÃ „Ò, Á¡‚ ÷Ê⁄UÃ •ÊÒ⁄U ¬ÊÁ∑§SÃÊŸ
ŒÊŸÊ¥ Ÿ •¬ŸÊÿÊ ÕÊ– (‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)
(∑§) ∑§êÿÍŸ ¬˝áÊÊ‹Ë (π) ŒÊ„⁄UË ◊ÍÀÿ ŸËÁÃ
(ª) „Á⁄UÃ ∑˝§Ê¥ÁÃ (ÉÊ) ∞∑§‹ ‚¥ÃÊŸ ŸËÁÃ

1

1

1
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23. The first Industrial Policy Resolution of independent India was introduced in the
year __________.

(Choose the correct option to fill up the blank)

(a) 1956 (b) 1948 (c) 1951 (d) 1991

SflÃ¥òÊ ÷Ê⁄UÃ ∑§Ê ¬„‹Ê •ÊÒlÊÁª∑§ ŸËÁÃ ¬˝SÃÊfl fl·¸ __________ ◊¥ ‹ÊªÍ Á∑§ÿÊ ªÿÊ ÕÊ–

(‚„Ë Áfl∑§À¬ mÊ⁄UÊ Á⁄UÄàÊ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞)

(∑§) 1956 (π) 1948 (ª) 1951 (ÉÊ) 1991

24. “Expenditure related to On-the-job training is a source of Human Capital
Formation”.

Identify, the statement that best illustrates how, On-the-job training contributes
to Human Capital Formation. (Choose the correct option)

(a) It guarantees immediate promotions for all trainees.

(b) It focuses solely on theoretical knowledge.

(c) It enhances employees skills and productivity.

(d) It reduces labour’s efficiency.

““∑§Êÿ¸ ¬⁄U ¬˝Á‡ÊˇÊáÊ ‚ ‚¥’¥ÁœÃ √ÿÿ ◊ÊŸfl ¬Í°¡Ë ÁŸ◊Ê¸áÊ ∑§Ê ∞∑§ dÊÃ „Ò–””
©‚ ∑§ÕŸ ∑§Ë ¬„øÊŸ ∑§⁄¥U, ¡Ê ÿ„ Œ‡ÊÊ¸ÃÊ „Ò Á∑§, ∑§Êÿ¸ ¬⁄U ¬˝Á‡ÊˇÊáÊ ◊ÊŸfl ¬Í°¡Ë ÁŸ◊Ê¸áÊ ◊¥ ∑Ò§‚ ÿÊªŒÊŸ
ŒÃÊ „Ò– (‚„Ë Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U)
(∑§) ÿ„ ‚÷Ë ¬˝Á‡ÊˇÊÈ•Ê¥ ∑§ Á‹∞ Ãà∑§Ê‹ ¬ŒÊÛÊÁÃ ∑§Ë ªÊ⁄U¥≈UË ŒÃÊ „Ò–
(π) ÿ„ ∑§fl‹ ‚ÒhÊ¥ÁÃ∑§ ôÊÊŸ ¬⁄U äÿÊŸ ∑¥§ÁŒ˝Ã ∑§⁄UÃÊ „Ò–
(ª) ÿ„ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§ ∑§ÊÒ‡Ê‹ •ÊÒ⁄U ©à¬ÊŒ∑§ÃÊ ◊¥ flÎÁh ∑§⁄UÃÊ „Ò–
(ÉÊ) ÿ„ üÊÁ◊∑§ ∑§Ë ŒˇÊÃÊ ∑§Ê ∑§◊ ∑§⁄UÃÊ „Ò–

25. __________ is an example of a miniratna company. 1

(Choose the correct option to fill up the blank)

(a) Indian Oil Corporation Limited

(b) Steel Authority of India Limited

(c) Hindustan Aeronautics Limited

(d) Bharat Sanchar Nigam Limited

__________ “‹ÉÊÈ⁄UàŸ” ∑¥§¬ŸË ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ ’ÃÊß∞–
(‚„Ë Áfl∑§À¬ mÊ⁄UÊ Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§⁄¥U)

(∑§) ß¥Á«UÿŸ •ÊÚÿ‹ ∑§ÊÚ¬Ê¸⁄U‡ÊŸ Á‹Á◊≈U«U

(π) S≈UË‹ •ÊÕÊÁ⁄U≈UË •ÊÚ»§ ß¥Á«∏UÿÊ Á‹Á◊≈U«U

(ª) Á„ãŒÈSÃÊŸ ∞⁄UÊŸÊÁ≈UÄ‚ Á‹Á◊≈U«U

(ÉÊ) ÷Ê⁄UÃ ‚¥øÊ⁄U ÁŸª◊ Á‹Á◊≈U«U

1

1
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26. ___________ is an apex body to take care of the rural financing system of the

country. (Choose the correct option to fill up the blank)

(a) Reserve Bank of India

(b) Commercial Bank

(c) Land Development Bank

(d) National Bank for Agriculture and Rural Development

___________ Œ‡Ê ∑§Ë ª˝Ê◊ËáÊ ÁflûÊ √ÿflSÕÊ ∑§Ë Œπ÷Ê‹ ∑§⁄UŸ flÊ‹Ë ∞∑§ ‡ÊË·¸ ‚¥SÕÊŸ „Ò–

(‚„Ë Áfl∑§À¬ mÊ⁄UÊ Á⁄UÄÃ SÕÊŸ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞–)

(∑§) ÷Ê⁄UÃËÿ Á⁄U¡fl¸ ’Ò¥∑§

(π) flÊÁáÊÁíÿ∑§ ’Ò¥∑§

(ª) ÷ÍÁ◊ Áfl∑§Ê‚ ’Ò¥∑§

(ÉÊ) ⁄UÊc≈U˛Ëÿ ∑Î§Á· •ÊÒ⁄U ª˝Ê◊ËáÊ Áfl∑§Ê‚ ’Ò¥∑§

27. Identify, which of the following is not an objective of Indian Economic Planning ?

(a) Growth (b) Modernisation

(c) Self Reliance (d) Inequality

¬„øÊŸ¥ Á∑§, ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ÷Ê⁄UÃËÿ •ÊÁÕ¸∑§ ÁŸÿÊ¡Ÿ ∑§Ê ∞∑§ ©g‡ÿ Ÿ„Ë¥ „Ò?

(∑§) ‚¥flÎÁh (π) •ÊœÈÁŸ∑§Ë∑§⁄UáÊ

(ª) •Êà◊ÁŸ÷¸⁄UÃÊ (ÉÊ) •‚◊ÊŸÃÊ

28. “Both forms of Capital (human & physical) depreciate with time, but the nature
of depreciation differs between the two”.

Do you agree with the given statement ? Give valid reasons in support of your
answer.

ŒÊŸÊ¥ ¬˝∑§Ê⁄U ∑§Ë ¬Í¥Á¡ÿÊ° (◊ÊŸfl •ÊÒ⁄U ÷ÊÒÁÃ∑§) ◊¥ ‚◊ÿ ∑§ ‚ÊÕ ◊ÍÀÿOÊ‚ „ÊÃÊ „Ò, ¬⁄UãÃÈ ŒÊŸÊ¥ ∑§Ë ¬˝∑Î§ÁÃ
◊¥ •¥Ã⁄U „ÊÃÊ „Ò–””

ÄÿÊ •Ê¬ ÁŒ∞ ª∞ ∑§ÕŸ ‚ ‚„◊Ã „Ò¥? •¬Ÿ ©ûÊ⁄U ∑§ ‚◊Õ¸Ÿ ◊¥ flÒœ ∑§Ê⁄UáÊ ŒËÁ¡∞–

1

1

3
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29. (a) “The installation of new solar power plant in India enhances air quality and
supports a sustainable strategy.”
Defend or refute the given statement with valid arguments.

OR
(b) Explain the consequences of Global Warming. 3

(∑§) “÷Ê⁄UÃ ◊¥ Ÿ∞ ‚ÊÒ⁄U ™§¡Ê¸ ‚¥ÿ¥òÊ ∑§Ë SÕÊ¬ŸÊ flÊÿÈ ªÈáÊflûÊÊ ∑§Ê ’„Ã⁄U ’ŸÊÃË „Ò •ÊÒ⁄U ∞∑§ œÊ⁄UáÊËÿ
⁄UáÊŸËÁÃ ∑§Ê ‚◊Õ¸Ÿ ∑§⁄UÃË „Ò–”
◊Êãÿ Ã∑§ÊZ ∑§ •ÊœÊ⁄U ¬⁄U ÁŒ∞ ª∞ ∑§ÕŸ ∑§Ê ‚◊Õ¸Ÿ •ÕflÊ π¥«UŸ ∑§⁄¥U–

•ÕflÊ
(π) flÒÁ‡fl∑§ ©cáÊÃÊ ∑§ ¬Á⁄UáÊÊ◊Ê¥ ∑§Ê fláÊ¸Ÿ ∑§⁄¥U–

30. (a) “In 1991, the Indian government tackled the Balance of Payment (BoP) crisis
through the devaluation of rupee”.
Identify and explain the liberalisation measure highlighted in the above
statement.

OR
(b) “In 1991, numerous reforms were undertaken on taxation front”.

Explain the measures (any two) highlighted in the above statement.

““1991 ◊¥, ∑§⁄UÊœÊŸ ∑§ ◊Êø¸ ¬⁄U ∑§ß¸ ‚ÈœÊ⁄U Á∑§∞ ª∞ Õ–””
(∑§) ““1991 ◊¥, ÷Ê⁄UÃËÿ ‚⁄U∑§Ê⁄U Ÿ L§¬ÿ ∑§ •fl◊ÍÀÿŸ ∑§ ◊Êäÿ◊ ‚ ÷ÈªÃÊŸ ‚¥ÃÈ‹Ÿ (BoP) ‚¥∑§≈U ∑§Ê

‚◊ÊœÊŸ Á∑§ÿÊ–””
 ©¬⁄UÊÄàÊ ∑§ÕŸ ◊¥ Œ‡ÊÊ¸∞ ª∞ ©ŒÊ⁄UË∑§⁄UáÊ ◊Ê¬ ∑§Ë ¬„øÊŸ fl √ÿÊÅÿÊ ∑§⁄¥U–

•ÕflÊ
(π) ©¬⁄UÊÄàÊ ∑§ÕŸ ◊¥ Œ‡ÊÊ¸∞ ª∞ ©¬ÊÿÊ¥ (Á∑§ã„Ë¥ ŒÊ) ∑§Ë √ÿÊÅÿÊ ∑§⁄¥U–

31. Describe the occupational structure of India during the Colonial era. 4

•ÊÒ¬ÁŸflÁ‡Ê∑§ ∑§Ê‹ ∑§ ŒÊÒ⁄UÊŸ ÷Ê⁄UÃ ∑§Ë √ÿÊfl‚ÊÁÿ∑§ ‚¥⁄UøŸÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞–

32. Rohit is an agricultural worker, who is engaged during the planting and harvesting
seasons. However, once the harvest is completed, he experiences temporary
unemployment until the next season begins.
In the light of the above text, identify and explain the type of unemployment which

he is facing.

⁄UÊÁ„Ã ∞∑§ ∑Î§Á· üÊÁ◊∑§ „Ò, ¡Ê ’ÈflÊß¸ •ÊÒ⁄U ∑§≈UÊß¸ ∑§ ◊ÊÒ‚◊ ◊¥ ∑§Ê◊ ∑§⁄UÃÊ „Ò– „Ê‹Ê°Á∑§, ∞∑§ ’Ê⁄U ∑§≈UÊß¸
¬Í⁄UË  „Ê ¡ÊŸ ∑§ ’ÊŒ, •ª‹ ◊ÊÒ‚◊ ∑§ ¬˝Ê⁄¥U÷ „ÊŸ Ã∑§ ©‚ •SÕÊÿË ’⁄UÊ¡ªÊ⁄UË ∑§Ê ‚Ê◊ŸÊ ∑§⁄UŸÊ ¬«∏ÃÊ
„Ò–
©¬⁄UÊÄàÊ ªl ∑§ •Ê‹Ê∑§ ◊¥, ’⁄UÊ¡ªÊ⁄UË ∑§ ©‚ ¬˝∑§Ê⁄U ∑§Ë ¬„øÊŸ •ÊÒ⁄U √ÿÊÅÿÊ ∑§⁄¥U Á¡‚∑§Ê fl„ ‚Ê◊ŸÊ   ∑§⁄U
⁄U„Ê „Ò–

3

4

4

4
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33. Read the following text carefully :
In the 2024 Union Budget presentation, Finance Minister announced an allocation
of ` 1.52 lakh crore for the agricultural sector for the fiscal year 2025. A key
initiative involves the introduction of natural farming techniques to one crore
farmers over the next two years, thereby promoting sustainable practices and
reducing dependency on chemical inputs.
The budget also plans to establish large scale vegetable production clusters to
enhance efficiency and ensure a stable supply of vegetables. Furthermore, the
government aims to conduct a thorough review of agricultural research,
introducing 109 climate-resilient and high-yielding crop varieties and setting up
10,000 bio-input centers to support oil seed production.
Additionally, the creation of a digital public infrastructure will provide farmers
with vital information such as weather forecasts and market prices, supporting
informed decision-making.
Overall, the 2024 Union Budget underscores the governments dedication to
fostering sustainability and innovation within the agricultural sector, paving the
way for future growth.
On the basis of given text and common understanding, answer the following
questions :
(I) Examine the importance of adopting natural farming practices to enhance

sustainability in the agricultural sector.
(II) Describe the purpose of creation of ‘digital public infrastructure’.

ÁŸêŸÁ‹ÁπÃ ªl ∑§Ê äÿÊŸ¬Ífl¸∑§ •äÿÿŸ ∑§⁄¥U —
2024 ∑§ ∑¥§Œ˝Ëÿ ’¡≈U ¬˝SÃÈÁÃ ◊¥, ÁflûÊ ◊¥òÊË Ÿ ÁflûÊËÿ fl·¸ 2025 ∑§ Á‹∞ ∑Î§Á· ̌ ÊòÊ ∑§ Á‹∞ ̀  1.52 ‹Êπ
∑§⁄UÊ«∏ ∑§ •Êfl¥¥≈UŸ ∑§Ë ÉÊÊ·áÊÊ ∑§Ë– ∞∑§ ¬˝◊Èπ ¬„‹ ◊¥ •ª‹ ŒÊ fl·ÊZ ◊¥ ∞∑§ ∑§⁄UÊ«∏ ∑Î§·∑§Ê¥ ∑§ Á‹∞
¬˝Ê∑Î§ÁÃ∑§ ∑Î§Á· Ã∑§ŸË∑§Ê¥ ∑§Ê •Ê⁄¥U÷ ‚Áê◊Á‹Ã „Ò, Á¡‚‚ œÊ⁄UáÊËÿ ¬˝ÕÊ•Ê¥ ∑§Ê ¬˝Êà‚Ê„Ÿ ŒŸÊ ÃÕÊ
⁄UÊ‚ÊÿÁŸ∑§ •ÊªÃÊ¥ ¬⁄U ÁŸ÷¸⁄UÃÊ ∑§◊ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–
’¡≈U ◊¥ ŒˇÊÃÊ ’…∏UÊŸ •ÊÒ⁄U ‚Áé¡ÿÊ¥ ∑§Ë ÁSÕ⁄U •Ê¬ÍÁÃ¸ ‚ÈÁŸÁ‡øÃ ∑§⁄UŸ ∑§ Á‹∞ ’«∏ ¬Ò◊ÊŸ ¬⁄U ‚é¡Ë ©à¬ÊŒŸ
Ä‹S≈U⁄ SÕÊÁ¬Ã ∑§⁄UŸ ∑§Ë ÷Ë ÿÊ¡ŸÊ „Ò–  ß‚∑§ •ÁÃÁ⁄UÄÃ, ‚⁄U∑§Ê⁄U ∑§Ê ‹ˇÿU ∑Î§Á· •ŸÈ‚¥œÊŸ ∑§Ë ª„Ÿ
‚◊ËˇÊÊ ∑§⁄UŸÊ, 109 ¡‹flÊÿÈ ‹øË‹Ë •ÊÒ⁄U ©ìÊ ©¬¡ flÊ‹Ë »§‚‹ Á∑§S◊Ê¥ ∑§Ê ¬‡Ê ∑§⁄UŸÊ •ÊÒ⁄U ÁÃ‹„Ÿ
©à¬ÊŒŸ ∑§Ê ‚◊Õ¸Ÿ ∑§⁄UŸ ∑§ Á‹∞ 10,000 ¡Òfl ßŸ¬È≈U ∑¥§Œ˝ SÕÊÁ¬Ã ∑§⁄UŸÊ „Ò–
ß‚∑§ •ÁÃÁ⁄UÄàÊ, ∞∑§ ‚Êfl¸¡ÁŸ∑§ Á«UÁ¡≈U‹ •ÊœÊÁ⁄U∑§ ‚¥⁄UøŸÊ ∑§ ÁŸ◊Ê¸áÊ ‚ ∑Î§·∑§Ê¥ ∑§Ê ◊ÊÒ‚◊ ∑§
¬ÍflÊ¸ŸÈ◊ÊŸ •ÊÒ⁄ ’Ê¡Ê⁄U ∑§Ë ∑§Ë◊ÃÊ¥ ¡Ò‚Ë ◊„àfl¬ÍáÊ¸ ¡ÊŸ∑§Ê⁄UË Á◊‹ªË, Á¡‚‚ ©ã„¥ ÁŸáÊ¸ÿ ‹Ÿ ◊¥ ‚„ÊÿÃÊ
Á◊‹ªË– ‚◊ª˝ M§¬ ‚, 2024 ∑§Ê ∑¥§Œ˝Ëÿ ’¡≈U ÷Áflcÿ ∑§ Áfl∑§Ê‚ ∑§Ê ◊Êª¸ ¬˝‡ÊSÃ ∑§⁄UÃ „È∞ ∑Î§Á· ˇÊòÊ ∑§
÷ËÃ⁄U ÁSÕ⁄UÃÊ ÃÕÊ ŸflÊøÊ⁄U ∑§Ê ¬˝Êà‚Ê„Ÿ ŒŸ ∑§ Á‹∞ ‚⁄U∑§Ê⁄U ∑§ ‚◊¬¸áÊ ∑§Ê ⁄UπÊ¥Á∑§Ã ∑§⁄UÃÊ „Ò–
ÁŒ∞ ª∞ ªl ÃÕÊ ‚Ê◊Êãÿ ôÊÊŸ ∑§ •ÊœÊ⁄U ¬⁄U ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Œ¥ —
(I) √ÿÊÅÿÊ ∑§⁄¥U Á∑§, Á∑§‚ ¬˝∑§Ê⁄U ¬˝Ê∑Î§ÁÃ∑§ ∑Î§Á· ¬hÁÃÿÊ° ∑Î§Á· ˇÊòÊ ◊¥ ÁSÕ⁄UÃÊ ∑§ ◊„àfl ∑§Ê ¬˝Êà‚ÊÁ„Ã

∑§⁄UÃË „Ò?
(II) “‚Êfl¸¡ÁŸ∑§ Á«UÁ¡≈U‹ •ÊœÊÁ⁄U∑§ ‚¥⁄UøŸÊ” ∑§ ÁŸ◊Ê¸áÊ ©g‡ÿ ∑§Ê fláÊ¸Ÿ ∑§⁄¥U–

3

3
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34. (a) (I) “China’s rapid industrial growth is a recent phenomenon”.
Do you agree with the given statement ? Give valid arguments in
support of your answer.

(II) Define liberty indicator and provide an example. 3
OR

(b) (I) Compare and analyse the given data of India and China with valid
arguments.

  Sectoral Share of Employment and GVA (%) in 2018-19.

India China India China

Agriculture 16 7 43 26

Industry 30 41 25 28

Services 54 52 32 46

Total 100 100 100 100

Distribution of WorkforceContribution to GVA
Sector

Source : Human Development Report 2019; Key Indicators of Asia and

Pacific 2019.

(II) Name any two regional and global economic groupings. 2

(∑§) (I) ““øËŸ ∑§Ë ÃËfl˝ •ÊÒlÊÁª∑§ Áfl∑§Ê‚ „Ê‹ ∑§Ë „Ë ÉÊ≈UŸÊ „Ò–””
ÄÿÊ •Ê¬ ÁŒ∞ ª∞ ∑§ÕŸ ‚ ‚„◊Ã „Ò¥? ◊Êãÿ Ã∑§ÊZ ‚Á„Ã •¬Ÿ ©ûÊ⁄U ∑§Ë ¬ÈÁc≈U ∑§⁄¥U–

(II) SflÃ¥òÊÃÊ ‚¥∑§Ã∑§ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§⁄¥U •ÊÒ⁄U ∞∑§ ©ŒÊ„⁄UáÊ ¬˝ŒÊŸ ∑§⁄¥U–
•ÕflÊ

(π) (I) ÷Ê⁄UÃ •ÊÒ⁄U øËŸ ∑§ ÁŒ∞ ª∞ •Ê¥∑§«UÊ¥ ∑§Ë flÒœ Ã∑§ÊZ ∑§ ‚ÊÕ ÃÈ‹ŸÊ •ÊÒ⁄U Áfl‡‹·áÊ ∑§⁄¥U–
2018-19 ◊¥ ⁄UÊ¡ªÊ⁄U ∞fl¥ ‚∑§‹ ÉÊ⁄U‹Í ©à¬ÊŒ (%) ∑§ ˇÊòÊ ‡Êÿ⁄U

÷Ê⁄UÃ øËŸ ÷Ê⁄UÃ øËŸ

∑Î§Á· 16 7 43 26

©lÊª 30 41 25 28

‚flÊ 54 52 32 46

ÿÊª 100 100 100 100

ˇÊòÊ
‚∑§‹ ÉÊ⁄U‹Í ©à¬ÊŒŸ ◊¥ ÿÊªŒÊŸ ∑§Êÿ¸’‹ ∑§Ê ÁflÃ⁄UáÊ

dÊÃ— ◊ÊŸfl Áfl∑§Ê‚ Á⁄U¬Ê≈¸U; 2018

(II) Á∑§ã„Ë¥ ŒÊ ˇÊòÊËÿ •ÊÒ⁄U flÒÁ‡fl∑§ •ÊÁÕ¸∑§ ‚◊Í„ ∑§Ê ©ÀÀÊπ ∑§⁄¥U–

- o O o -

4

3


